
Time: 10 Minutes Paper Math 6 (T-1) Total Marks: 10

3rd Month, 1st Week, 3rd Day Exercise 6.3  Q # (1, 2, 3, 4)

Q.1. Choose the correct options.   (0.75 x 4 = 3)  ŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,XXXX

(i) Identify the co-efficient in 23ab is: ~~~~°°°°ŠŠŠŠ~~~~uuuuÅÅÅÅ¶¶¶¶KKKK0000++++„„„„™™™™,,,,:::: 23ab

(a) 1 (b) 0 (c) 23 (d) ab

(ii) What is the symbolically form of the sum of the number n and 8 is 30?

ììììXXXXZZZZkkkkÅÅÅÅ´́́́ääääîîîîgggg6666,,,,̂̂̂̂HHHHìììì???? 30 »»»»ùùùù···· 8 ZZZZzzzzgggg n °°°°ŠŠŠŠ

(a) n + 8 = 30 (b) n + 30 = 8 (c) n = 30 + 8 (d) n _ 8 = 30

(iii) Identify the co-efficients in 4a + 3b is: ~~~~°°°°ŠŠŠŠ~~~~uuuuÅÅÅÅÙÙÙÙ||||####™™™™,,,,:::: 4a + 3b

(a) 4 (b) 3 (c) 0 (d) both a & b

ŠzâV b Zzg a

(iv)  can be written as in algebraic term: rrrr~~~~gggg¶¶¶¶~~~~ÉÉÉÉMMMMhhhh÷÷÷÷:::: Z

(a) , m, n (b) (c) (d)  + m + n

//// Answer the following questions: ÎÎÎÎZZZZÑÑÑÑ]]]]ÆÆÆÆ����ZZZZ[[[[ŠŠŠŠ,,,,XXXX ŠŠŠŠgggg̀`̀̀ffffssss
Q.2. Write the following statements in algebraic expressions.     (1x2=2)

ŠŠŠŠgggg̀`̀̀ffffssssÒÒÒÒ********]]]]ÃÃÃÃZZZZrrrr~~~~ÓÓÓÓVVVV~~~~KKKKXXXX

(i) Cost of n litres of cooking oil at Rs. 170 per litre.

ggggzzzz9999°°°°ËËËË....çççç LLLLHHHHƒƒƒƒXXXX 170 ËËËË....çççç LLLL
HHHHÃÃÃÃååååWWWWbbbbÅÅÅÅ7777 n

(ii) Product of a number n and four times a variable y.

»»»»qqqqÝÝÝÝ¢¢¢¢[[[[XXXX y kkkkHHHHoooo 4 ZZZZzzzzgggg n °°°°ŠŠŠŠ

Q.3. Write the algebraic terms of the following expressions.      (1x2=2)

ŠŠŠŠgggg̀`̀̀ffffssssÓÓÓÓVVVVÃÃÃÃZZZZrrrr~~~~gggg¶¶¶¶VVVV~~~~KKKKXXXX
(i) 4xy + 6y _ 5 (ii) ab + 2

Q.4. Write the coefficients of each term in the following algebraic expression.

(1x3=3)

ŠŠŠŠgggg̀`̀̀ffffssssZZZZrrrr~~~~ÓÓÓÓVVVV~~~~°°°°ŠŠŠŠ~~~~uuuuKKKKXXXX

(i) (ii) 49 + 3b (iii) pqr + 15
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